Lab Procedure Work step by step

· In the lab I added 25 ml of HCI (hydrochloric acid) to the 150ml flask

· I added 2 drops of phenolphthalein to the flask

· Filled burette w/ 50 ml of NaOH (sodium Hydroxide)

· Burette contained a liquid volume of 50 ml and the chemicals inside were NaOH & H20

· Put flask under burette

· Took the ph meter and measured the initial pH of the solution which was 0.22
· Added 1 ml of NaOH to burette at a time.

· Recorded the mL of base (burette reading), pH, and moles of NaOH in a table as follows:

	Drop increments  (after 1 drop)
	Ml of base of burette
	pH
	Moles of NaOH

	1 
	1 ml 49 ml left
	0.27
	0.001000

	2 
	2 ml 48 left
	0.32
	0.002000

	3 
	3 ml 47 left
	.37
	0.003000

	4 
	4ml 46 left
	.42
	0.004000

	5 
	5ml 45 left
	.47
	0.005000

	6 
	6ml 44 left
	.54
	0.006000

	7 
	7ml 43 left
	.60
	0.007000

	8 
	8ml 42 left
	.67
	0.008000

	9
	9ml 41 left
	.75
	0.009000

	10
	10ml 40 left
	.84
	0.010000

	11
	11ml 39 left
	.95
	0.011000

	12
	12ml 38 left
	1.09
	0.012000

	13
	13ml 37 left
	1.28
	0.013000

	14
	14ml 36 left
	1.59
	0.014000

	15
	15ml 35 left
	7.00
	0.015000

	16
	16ml 34 left
	12.39
	 the same- NaCl didn’t change 

	17
	17ml 33 left
	12.68
	the same- NaCl didn’t change

	18
	18ml 32 left
	12.84
	the same- NaCl didn’t change

	19
	19ml 31 left
	12.96
	the same- NaCl didn’t change

	20
	20ml 30 left
	13.05
	the same- NaCl didn’t change

	21
	21ml 29 left
	13.12
	the same- NaCl didn’t change


· The solution in the flask will change in color from clear to pink due to the phenolphthalein indicator when the endpoint is either reached or crossed. Mark the point in the data table at which the color change occurs. That mark was at which it turned pink was when 16 ml of NaOH had been dispensed. 34 ml still remained in the burette.
· In the new flask the same procedure was done only when 15ml of NaOH was dispensed did procedure change. Instead of 1ml increments it became .05 ml. 
· 15.05 ml of  NaOH was dispensed instead of 16 ml, and that was the actual measurement of when the solution turned pink. The burette base was 34.95, and the pH was actually 11.10 when it turned pink. (This was the more precise measurement.)
· Next was to add .05 ml of NaOH five more times and the results were as follows:

	· Drop increments  (after 1 drop)
	· Ml of base of burette
	· pH
	· Moles of NaOH

	· 1
	· 34.90
	· 11.40
	· the same- NaCl didn’t change

	· 2
	· 34.85
	· 11.57
	· the same- NaCl didn’t change

	· 3
	· 34.80
	· 11.70
	· the same- NaCl didn’t change

	· 4
	· 34.75
	· 11.79
	· the same- NaCl didn’t change

	· 5
	· 34.70
	· 11.87
	· the same- NaCl didn’t change


Complete
